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[ This question paper contains 40 pages |

RSM-08

COMMERCE & A-CCOUNTAN CY-I
FItoT-1

Time : Three Hours Maximum Marks : 200
RAF : A que Yuii® : 200
IMPORTANT NOTE

wEvaqul fEw

(@) The question paper has been divided into three parts — Part A, B and C. The number of
questions to be attempted and their marks are indicated in each part.

WA 43, T SR | 7 dF et F fawfe & 1 TR amr o @ RRY o At weet 9 e
3R S7F 3 IW 9§ oifteT f ™ ¥

(b) Attempt answers either in Hindi or English, not in both.

SR et A ofitch A @ el o F SRR, R A

() Write the answers in the space provided below each question. Additional Booklet or Blank
Paper will neither be provided not allowed.

T T & A Rl g e F @ s AR 1 e qRem @ S e T o v @
fear SR @R T & I sl S @ o

(d} The candidates should not write the answers beyond the limit of words prescribed in Parts
A, B and C, failing which the marks can be deducted.

AT T AT “377, “F 7 AR g » A a0t I iR vt = S @ o o T R
MY | THHT Soole o T 3% B o Tha ¢ |

(e) In case candidate makes any identification mark i.e. Roll No./N ame/Telephone No./Mobile
No. or any other marking either outside or inside the answer book, it would be treated
as using unfair means. The candidature of the candidate for the entire examinations shall be
rejected by the Commission, if he is found doing so.

Sl G IR YA & R I M A e T I v aee TevdRTen
TR A I g T g frd o s sifeg fRR 9w erfaa W @y A
ST § ST BN U R N WSt o Geet en N snafm g Y 3 s |



PART - A
. HAT-H
Marks : 40 % : 40

Note :  Attempt all the twenty questions. Each question carries 2 marks. Answer should not
exceed 15 words each.

AT WEE 20 WIS SR A | o vy % o 2 s it € 1 s 15 vl @ el wE
Rt =i |

1.  Explain the difference between Continuous Audit and Periodical Audit.

e IHEIOT SR TG SFHE0T T SR T Fioig

2.  Give any two objects of internal control.

AR 0T & 5 {1 3294l ol Fared |

3. Whatdo you mean by test checking ?
TIeoT S O AT e € 2




4.  What are the types of Vouchers 7
TRIUTS R TR % i € 7

5.  What are the disqualifications for appointmcnt of statutory auditor of a company ?

HuAT 1 ANt Stk F1ge B % feTe e o vt § 7

6.  State the uses of Securities Premium.

TR SieeEs & Jught SRy |

7. State the nature of Account of the following :
Capital Afc, Prepaid Insurance A/c, Accrued Interest A/c and Goodwill Afc.

1 % e el aaTed

P.T.O.



8.

Give examples of Subsidiary Books and Principal Books.

e FEal e W JRTh o IEe0T 81T |

9.

Explain Accounting Equation.

S FHieen e i |

10,

. . . 11 7 . .
X, Y and Z were partners sharing profits in the ratio of 513 and 15 - Z refires and his share
was taken up by X and Y in the ratio of 3 : 2. Find out the new ratio.

X, Y e Z SR o o, 3 = S e & 12,3 srerer v o w3 et 3

XU Y ER3 1 2 9 H UT R6A1 | 73T A S 0 |

11.

Explain provisions under Section 13 of the Indian Partnership Act.

TR AIFERY 3TUT-aT T 41T 13 S Mo sht T it |




12. A company issued 10,000 shares, 80% of the issue was underwritten by X. Applications
were received for 8,000 shares. Calculate the liability of the underwriter.

T T = 10,000 9 i fiw foran, rwent 80% fewam X = arfiifn fimar 1 8,000 3iw & form
SIS HIST §Y | SATATITR o Qe <t T 10 |

13. A company offers to its equity shareholders the right to buy one equity share of Rs. 100
- each at Rs. 120 for every four equity shares of Rs. 100 each held. The market value of one
equity share is Rs. 180. Calculate the value of right.

TF T 379 ToRIe e SivTeiiEl ot i 4 SITERE % UF ANSR 3w 120 %, 1 weea
et & e sifiea e 100 . wft siwr & 1 Foraet o ea 180 ©. wfi 3w § | SfueR ge W
MO Y _

14. What is difference between cost unit and cost centre ?
ST T T oITa S o o7 3eR & 7

7 P.T.O.



15. Name any four techniques of costing.

T TiEieh- =hl i TR Sialeat & T Saemsd |

16. What is the main object of Cost Accounting ?
AT TGS 5l TS ¥ 51 & ?

17. Calculate Economic Batch Order quantity for a company using batch costing with the help
of following information :

Annual demand for the component 4000 units
Cost of manufacture one unit Rs. 400
Setting up cost Rs. 200
Rate of interest per annum 10%
Tt weint 9 weraar @ faaer g SIRe A i T AT
Tt =l wnfres =T 4000 T8
wfer gerE Tt T 400 %.
TATTHT St AT 200 %.
T =TS 10%




18. - The contract price is Rs. 20,00,000. On 31* March 2009 two-third of the contract was
completed with cost of Rs. 10,49,000, architect’s certificate had been issued covering 50%
of the contract price. Calculate cost of work uncertified.

T T 20,00,000 . & 131 |, 2009 i 3% T 2/3 11T GO Y 7 o7 R SR 10,49,000 %,
& 1 iR g it reroree fonifirer R T SR oy S e B 50% o RER | e o
A T |

19. Give the formulae of following :
(1) Material yield variance
(i) Labour Idle time variance
71 o = forfa
(i) T Seae fareror
(i) =™ PRBH-BT =TT

20. Calculate P/V Ratio if fixed cost Rs. 400 and BEP Rs.1,000.
S-S ST Tl <ht AT R A 400 <. 06 wa fors g 1,000 5. 8 1

9 P.T.O,



PART-B
- WRT-%
Marks : 60 6 ¢ 60
Note : Attempt all the twelve questions. Each question carries § marks. Answer should not
exceed 50 words each,

qAZ : WHE 12 Al % SR S | el WY o ford 5 3fes Tl € 1 ueieR U = 39K 50 vl
g a1ty = e aned |

21. Explain a suitable system of internal check as regards to wages for a big manufacturing
house.

@ SIS TG T8 & 1010 Hoiglt ¥ Tl U SUGRT STANeh (FRI8T0F ToTel! S qHems |

22, What qualities should be there in an ideal audit programme ?

T 3N SIheToT HTRIshH | S1-h1T 707 gt <feT ?

10



23. “An auditor is not a valuer and yet he is intimately connected with value.” Explain.

“T 3feheTeh Yoo Fries e & o oft o tt @ Torien o T TEE 1 5 e ) S Y |

24. What is the process for the appointmént of cost auditor 7 Discuss the disqualifications of
cost auditor,

T Siehere ht g o s uftean & 2 T ik ot avdirant Ay |

11 ) P.T.O.



25,

Explain Financial Accounting Information System.
forira T@ieh Yo ST i AT HiE |

26.

13 1 ) . .
A, B and C are partners sharing profits 2+8 and 3 respectively. The goodwill of the firm is

valued at Rs. 64,800. B retires and A and C decide to share future profits in the proportion
7 : 2. Give Journal Entry for making adjustment for Goodwill without opening any
Goodwill Alc.

w, o e A 5, 3w W § | o 64,800 5. i T | A
STRIRT FEUT T & T Wiy | T &R W 7 : 2 % e § oy sied o v % © 1 B
A1 @ @iet S o T JErEre & fee nfafse S |

12



27. The directors of a company forfeited 100 equity shares of Rs. 10 each for non-payment of
the first call of Rs. 2 and the final call of Rs. 2. The shares were reissued to one of the
directors upon payment of Rs. 8 per share. No entries were made on forfeiture but when the
shares were reissued, the cash received was credited to the share capital account. Give the
necessary rectifying Journal Entry.

FHI! % WErereni 4 100 WHaT 39, 10 %, WiieT 377, 1 W AT 2 3. 0 3ifer A1 2 3. % e
T W TN R R | 3 ST O HIerE 8 6. WY ST T R T : e e Rt |
379 o &X0T W S o wafts T i weg ga: PR W s e @ stw 5 wRr § e
S TR | ST GURICHR W afaf |

13 P.T.O,



28, R Ltd. went into liquidation with following liabilities :
(a) Secured creditors Rs. 2,00,000 (Realisation from the assets Rs. 2,50,000)
(b) Preferential creditors Rs. 60,000.
() Unsecured creditors Rs. 3,05,000.
Liquidation expenses Rs. 2,520.

. . : . 1
Liquidator’s remuneration 3% on the amount realized from all assets and 15% on the

amount distributed to unsecured creditors.
Rs. 2,60,000 were realised from various other assets.
Prepare Liquidator’s Final Statement of Account.

FrfeEd gifgeai o 919 R Ltd, =51 TH0 §a
(3r) i SRR 2,00,000 % (2,50,000 F. wRmgRE | )
() TEITR @SR 60,000 7.
(@) Ra $IR 3,05,000 3.
e = 2,520 %

P et Tt & e g% o 1 39 o SRR AR R i 9 T 1 %

IRCTHeE AT S T TSR T |
fei=T o= et 9 2,60,000 %, SA T |
PR =1 21 Taewor @ar <= | '

14



29,

A certain factory produces a uniform type of arthle and has capacity of producing 1,500
units per week of 48 hours. The following information shows the different elements of cost
for three consecutive weeks of 48 hours each when the output has changed from week to
week.

Units produced in  Direct materials Direct Labour Factory overhead
48 hours Rs. Rs. (Semi-variable)
Rs.
400 800 1,600 3,800
500 1,000 2,000 4,000
800 1,600 3,200 4,600

You are asked to find out the selling price per unit when weekly output will be 1, 000 units
and profit of 8 3 % of selling price is to be charged.

e g1 G AR i ThTedl SAR Sl § ST 48 U2 % Ui O I 1,500 3HRdt Iee w1 3@
&S TGl € | 48 HU2 o I TRIR TiE B S % fafy st o Qe a9 SR e R T

Units produced in  Direct materials Direct Labour Factory overhead
48 hours Rs. Rs. {Semi-variable)
Rs.
400 800 1,600 3,800
500 ' 1,000 2,000 4,000
800 1,600 3,200 4,600

3Tt HicT $oFTE Torehel Tee S ST Y et o T g0 W 6 &, Srafeh W § 1,000 st

Feare Toram ST e o fosha g 8% % A T SR & 1

15 P.T.O.



30.

A certain chemical process yields 75% of material introduced as main product and 20% as
by-product, 5% being lost. In the process one unit of main product requires double the

1
materials required for a unit of by-product. Further one unit of main product needs 15 times
the time needed for one unit of by-product. Overheads are absorbed in the ratio 3 : 1.
During a month 4,000 units of raw materials at a cost of Rs. 68,000 were introduced,

Wages and overheads incurred were Rs. 21,200 and Rs. 10,800 respectively and wastage
realized Rs. 1,200. Ascertain the cost of both the products.

weh rafires sk § o ¢ Wl o 75% G IS quUT 20% IR S SAET T 5% whear
H B B STt € ¢ R ¥ e 3o F I W I a0 4 SIS H U §hiE O e At
T SR A T W %Tnmar% | SUNETET Tl SR 3 ¢ 1 % U W BT § | Wh Wi |
4,000 AT = FOT FR TR o W, ek o5 3w wei & | wrnlt 68,000 T, M9 21,200 %,
T SANET 10,800 T. T &1 Y fasht ¥ 1,200 T, WG §Y | G141 SeART ol AT ST iU 1§

16



31. The following are the estimated expenses budgeted for an output of 10,000 units in a

factory :
Per Unit (Rs.)

Material 140
Labour - 30
Direct expenses 10

Factory overhead :
Variable 40
Fixed 20
Administrative expenses 10
Selling overhead 10% Fixed 20
Distribution overhead 20% Fixed 10
300

Prepare a budget for production of 8,000 units and 6,000 units.
T B H 10,000 THEA] % S % fw St avie =5 Py s €

ufa 3ot (%.)

[t 140

T 50

TeTe] T 10
HREMT YR _

IREd3ie 40

fer 20

QTETeh =0 10

foere Sulterg 10% e 20

foreor Sufteme 20% R 10

300

8,000 T 6,000 SHIEET & IR 2 To1c 1 Mamior iR |

17 : P.T.O.



32,

In a certain factory :

(a) Normal number of operators in department 50
(b) Normal number of hours paid for in a week 40
(c) Standard rate of payment per hour Rs. 8

(d) Standard output of department per hour,
taking into account normal idle time 20 units

In a particular week it was ascertained that 1,000 units were produced despite 20% of the
time paid for was lost owing to power failure and that the actual rate of pay was Rs. 9 per
hour. Compute Labour variances.

Toh @M & 3T :
@ fFemEdEes sigmEEEr 50
(F) T A P Y 7Y He o e ge 40
(®) AT HT T S T SR : 8%.
(@) T R T B e e

# e der wETT I 20 378

T T ga o e waw # 1,000 srsal 7 e fohan T, $Heh S1aslg 20% WA 3 ST St
Il ifoiT et &1 o ShIRUT g% Tt Wi Hel Snfae o 9 . oM + 51 faeron st o it |

18



PART -C

-]
Marks : 100 ' 3w : 100
Note: Attempt any five questions. Each question carries 20 marks. Answer should not
exceed 200 words.
e HREYS IR FR | T v * o 20 7w Preifa ¥ 1 I 200 v @ s 18 @
e |

33. State the duties of an auditor regarding the valuation and verification of the stock of a
manufacturing concern. State what do you know of the facts and judgement of any decided
case bearing upon the duties of an auditor in regard to stock.
frrmior 3 ol O Heen & Wi % goditd 6 T & Ty § ST % tvel e | 2 S
T o STETR o s R 0T fenelt weh e % e ve thaet e F et st AR |

19 P.T.O.
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34. What is statutory 7 What particulars are included in it and out of these which matters are to
be certified by the auditor ? Give a specimen of his certificate, which is included in

statutory report.
aunfer ROt = & 7 3u = ferowor wifiver gt € or 37 O afers o e it @ wnfvr e
TR & ? Sk SO T D, R denfores e F witafee werd o

21 P.T.O.
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35. (a)

(b)

(N

(=)

A and B are partner.s and the combined capitai of both the partners as on 1% January
2008 was Rs. 21,000 of which Rs. 14,000 stood to the credit of A. Profit and Loss

.. 2 1 . . . _
were to be divided as to 3 and 3 respectively. Drawings were also made in the same

proportion. On 31% December, 2008, the following information was given to you as
to the position of affairs :

(i) The total combined capital was Rs. 29,900.
(1)) ‘B’ bad drawn Rs. 200 in excess of the arranged proportion of drawings.

(iit) A and B were credited Rs. 300 and 850 respectively as special salary during
2008.

(iv) The partners were to be credited with 5% interest on capital.

You are required to prepare a statement showing how the capital of Rs. 29,900 is
divided between A and B.

1 3 1 . .
X, Y and Z are partners sharing profits 2> gand Erespectively. Y retires and his

share of profit is purchased for Rs. 8,100 by X and Z for which X is debited by
Rs. 3,600 and Z by Rs. 4,500. The profit for the year after Y’s retirement is
Rs. 10,500.

Distribute the profit between X and Z in accordance with the above arrangements.
Pass necessary Journal Entry to record the purchase of Y's share by X and Z.

AT B WEIRR & 1 | SR, 2008 i WRIER @ 950 21,000 . o |’ 14,000 3. A
of :a}amaﬁr% qa% % ST | sifeqt § 1 2MeR0T ot 39 SR | R W § 1 31% Ruew,
2008 T 29eh! F=iTesT TaaT < T

() TGS 29,900%. 9t |

(i) ‘B’ STEOT % FIEIRG SWgard & 200 %. 3ueh et |

(iii) 2008 % A wd B % @t 300 T. TF 850 %. o fowiw o= ¥ shise [ 7 |

(iv) G W 5% =T TERRT i shise [ohal 74T 1 3T T {9eRv) O SR a9esd o6 6
YR 29,900 3. ! ISt A w& B H S 9 | |

X,YQE’ZWW&W:%, %eﬂ'\r%%ﬂﬁﬁ% |'Y 3TERIST YEUT ST € SR ST T

e 8,100 . X W& Z & ¥ & o o X &% 9 3,600 3. w9 Z % AW 4,500 T. e

@ S & | Y % S1h1e W0l oA o 1% o =8 o1 eirw 10,500 5. ST € |

SUIET A % SAR T X Tt Z A siet | X T Z H R Y o1 0T T & qvao o

Tt = |

24
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36. - A limited company issued a prospectus inviting applications for 2,000 equity shares of
Rs. 10 each at a premium of Rs. 2 per share payable as follows :

On application Rs. 2
On allotment Rs. 5 (including premium)
On first call Rs. 3
On second and final call Rs. 2

Applications were received for 3,000 shares and pro-rata allotment was made on the
applications for 2,400 shares. Money overpaid on applications was employed on account of
sum due on allotment. Shree, to whom 40 shares were allotted, failed to pay the allotment
money and on her subsequent failure to pay the first call, her shares were forfeited. Pooja,
the holder of 60 shares, failed to pay the two calls and her shares were forfeited after the
second call. Of the shares forfeited, 80 shares were reissued to Naman credited as fully paid
@ Rs. 9 per share, the whole of Shree’s shares being included.

Pass the necessary Journal Entries and prepare the cash book of the company.

T fafirds Fat = 10 3. qod aret 2,000 T 231 % feg whveror frifi e 7 siwi 9t 2 5. ol
- 3w R ) SR 8 =i P weer vy for wim

AT TR 2%.
e W 5 %. (Tafam aEa)
T T I 3%,
feforer aremT w 2%.

3,000 3 o feTq SAEeA ST B0 1 2,400 RS W AAFQR SMee {ohar 47 | 3&eT T o
3nfeRy R =t e W 37 af¥r & fovw v opar | sl Rrment 40 sl 97 swreen Rean @, e
TR & Srere] T, SHF ST W I A 37 W, W 2wl 1 wor R o w4 1w 60 ofi
Y AT & S AT 7 34 IR, ST T aR0T SR feren v | 5 e S 9 9§ 80 s Sl bR 9 %
T S W T W i o) o | e st & wopet e witefoe & 1 e 9 g |
YIS T Hfaree Uet Uevg TR IR Y |

27 P.T.O,
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37. On 31% March, 2008 the Balance Sheet of holding company X Litd. and its subsidiary
Y Ltd. were as follows :

31 W7, 2008 = GAarl Fowt X Lid. i e e Y Ltd. & fag fe &

X Ltd. Y Ltd. X Ltd. Y Ltd.
Equity shares of | 2,00,000| 1,00,000 | Fixed Assets 1,60,000 63,000
Rs. 10
Investments :
10% Pref. shares 4,000 Pref. shares
of Rs. 10 1,00,000 | 1,00,000 | and 9,000 Equity 1,12,000 _
shares
Reserve Fund 60,000 30,000 | Stock 60,000 91,000
Profit & Loss Ale, 70,000 50,000 | Debtors 60,0001 1,00,000
Creditors 60,000 69,000 | Bills receivables - 10,000
' Cash at Bank 98,000 85,000
4,90,000 | 3,49,000 4,90,000 | 3,49,000
Information :

(i)  Sundry Creditors of Y Ltd., include Rs. 19,000 due to X Ltd. Y Ltd. had sent a draft
of Rs. 1,000 to X Ltd., on 30™ March , 2008, which reached late to X Ltd.

. (i) Stock of Y Ltd. included goods worth Rs. 30,000 purchased from X Ltd., on which it
had made a profit of 33%' % on cost price.

(iii)
(iv)

Sundry Debtors of X Ltd., included Rs. 20,000 due from Y Ltd.

X Ltd., purchased the shares in Y Ltd., on 1% July, 2007. On 1" April, 2007, the
balance at the debit of the Profit & Loss A/c of Y Ltd., was Rs. 10,000.

Y Ltd., distributed an interim dividend of Rs. 12,000 on its equity shares in October,
2007, transferred Rs. 30,000 to Reserve Fund on 31* March, 2008: and decided to

give a dividend on preference shares at prescribed rates. Prepare a Consolidated
Balance Sheet as on 31% March, 2008.

)

() Y Ltd., & a_RI ¥ 19,000 7. S X Ltd, @t 37 ¢ 9nfea € 1 30 wrd, 2008 =1 Y Ltd., 3
1,000 %. FEHR X Ltd., i 951 21 5t X Ltd 9t R F 91 |

Y Ltd., % e ¥ 30,000 % 1 161 S X Ltd., 3 wder o aiie forer o et e 1 335 %
e form | : ) |
X Ltd., ¥ g1 & 20,000 3. S Y Lid. | oA SRl &, Qreafeg &

X Ltd., 7 1 eTs, 2007 1 Y Ltd., % s &R & 1 Y Lid., & ety @m F 1 ae, 2007
= 10,000 T. Tt <o avst ot 1

Y Ltd., ¥ $TRR, 2007 W 310 GH 3{7 Ot W 12,000 &. ST @iw sien-1 31 9,
2008 i 30,000 ¥. A=EHIT H Iret T TEHRERRT S R Feia 3§ @rsiw 37 @ ol
foFa :

31 |7, 2008 F U dafsd fogr s |
30

(i)

(iii)
(iv)

(v)
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38. The standard mix for each batch of 100 units of product A is

Material A 6 kgs. at Rs. 15
Material B 4 kgs. at Rs. 10
During a month 10 batches were completed with actual consumption as follows :
Material A 63 kgs. @ Rs. 14
Material B 39kgs. @Rs. 11

Actual output during the month was 960 units.
Calculate all material cost variances.

100 THIEAT & T WE & 39T ‘A’ 1 T frgmr e

Material A 6 kgs. at Rs. 15
Material B 4 kgs. at Rs. 10
HE T oI A 10 g SR TR 9T i SUanT 39 TR @
Material A 63 kgs. @ Rs. 14
Material B 39 kgs. @ Rs. 11
T 1 G IR 960 THEA S |
A AT 3 Wt oo w6t o AR

33 P.T.O.
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39. The trading results of A Ltd. for the year 2007 and 2008 were as follows :
A Ltd. % 9 2007 T 2008 3 =AINS IR0 39 WohR E :

2007 2008

Rs. Rs.
Material 1,00,000 1,32,000
Wages 60,000 66,000
Variable overheads 12,000 14,000
Fixed overheads 20,000 24,000
Net profit 8,000 17,000
Sales _ 2,00,000 2,53,000

Material prices and wages rate, were increased in 2008 by 10% and sales price were

increased by 10%.

Prepare a statement showing how much each factor had contributed to the variation of

profit.

[ AT 29 % gedl ® a¥ 2008 ® 10% # gy g8 o foned Teg § 10% # 9 g5 | T foaton
T SR A T W @61 U UL ST YT e |
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